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Event selection (1) Muon, jet

Muon : Py > 20 GeV
Jet : E; > 50, 30 GeV ( 1st, 2nd)

cut flow Wou |Z-o1t
S|gnal) + 3jets + 2jets
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Event selection (2) missing
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Event selection (3) Tau

Y Tau @) reconstruction
— ¢t ~ 87 um THIE
35% leptonic, 65% hadronic
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Event selection : &6 LELRK

« Ttbar (t,u) Signal cut efficiency : 10.5% (150 events)
— W(—uv) + 3jets : 99.1% &2 (228 events)
— Z (—11) + 2 jets : 98.4% BRZE (28 events)
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Summary
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— 450 events / 200pb', 7 TeV : 201055 Z8I%E 7] 5

 tt(t,u) ® Event
— Topology (=&l
— W(—uv)+3 jets

selection DFEIL

L7= cut (cut eff. ~ 10.5%, 150 events)
BG AMEK (280 events) — cut #&EtTH
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